Differential Equations

+» He who seeks for methods without having a definite problem in mind
seeks for the most part in vain — D. HILBERT <

9.1 9fiant (Introduction )
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9.2 IMURYA HeheusTd (Basic Concepts)
e Teel U & frefafad YR % gl 9§ ufifed @

X*—-3x+3=0 )
sinx+cosx=0 .. (2
X+y:7 (3)
3T fAfafeaa e T fo=m
dy
X V70

@
T UM € Tom wHieeon (1), (2) o (3) W oheel T fv/ateen Sy =X (Th
71 Aferer) wnftre € St fob TeteRtor (4) o =R o W-T1el wids = (X) o Hier A
=R (y) 1 Sraehersl f el €1 39 YehR o1 GHISHR0] STaehel THIehI el 2|
TG Tk T g, ey @ds =X (3) oF 9 ST =) o STdshald
wftaferd &, sTaehel THRT0 FEard Bl
Teh UHT el GHIHT, forg shael Teh s =X o 9rued, oNf3d =) o Sfadherdt
gftferd &, T oTaehe GHIEH FHEA 81 SERE
d’y dy’
2= )
dx®>  dx
T G SRS GHE B
9= WY 9 37erhel THiehl Bl © TS T 9§ 21fueh Toas =/ o QIie] Seehers]
IS B §, 59 YR & STadhel U0l TR STaehel TH Head ¢l ofehd o8
TR T EH 319 3T i hael T STdshel THIHIUN o 729 b Hifdd @i 399
3TN BH WHI 3Tehel GHIRT o fol STashel TR0l 1% a1 & TN |

1. B9 STohats o fau fAfafad dohdl o START i aiFar 371
2. =9 Hife Il STEFHeS & U, Ta 31fie 230 (dashes)s! 39 Y& & &Y
H T T STAHTS BN SHAT nd shife aTel STaehatst i}f&fm‘zﬂ?m
y, 1 ST | o

=0 .. (5)




AaHA THHIOT 397

9.2.1 3iaahel WHIHIUT i &kife (Order of a differential equation)
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9.2.2 37aeheT GHIEYUT @t =1 (Degree of a differential equation)
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dzyjz dy)_ d?y _ -
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9.3. 3TThel WHIHIUT kT AUk TS fafyre g1 (General and Particular
Solutionsof a Differential Equation)
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SEENUT 3 FAMYq &its fF ®ed y=acosx + bsinx, 595 a, b € R, s/@&d
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| woamaett 9.2 |
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1. y=e+1 : y' -y =0
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6. y=xsnx : Xy =Y+ X X2 —y? (x¢03ﬁ1x>y3:r93|7>ﬂ X<-Y)
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8. y—cosy=x : (ysiny+cosy+x)y =y
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9. x+y=tanly : VY +y?+1=0
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9.4, TaU TU =MUk T TST kA WHIHIUT &1 Twi0T (Formation of a

Differential Equation whose Solution isGiven)
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ST, WAl Y2 = ax &1 e (X, Y, a) : y? = axoh &9 alel FHIHT FR
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SETETUT 5 okl o el y=asin (x+ b), EH a, b= 3R €, &l fefud w3 o
TIHE THIHIOT I AT Hifo)
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TEEI0T 7 X-HAF H] YA oI5 R W A 9l I F FA Y
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T AM A, x-3&1 S 7o fog R TR & el gl
@& el % CY ffdw fohan s €1 (0, @) 39 A o
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THT el C o1 THH 2

X re) X
X+ (y—aP=a JAgd X2+ y? = 2ay . (D
Sy a T Wes =R 81 TR (1) o o gal ,
T X G TR FH W U@ FW@ B Y
3TMHd 9.4
2x+2yﬂ=2aﬂ
dx dx
dy__dy
S X+ydx_adx
d
y Y
a dx
SEC] dy e
dx
iRl (2) ¥ a7 GHE (1) § W W IE w9 B
X ygz
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Xy y ﬂ
dx
el Y y2) 2xy 22 Y
dx dx
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g U U gaii o el 1 37 Yol IR B
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I 7o fog W qen e el oA x-3781 1 fgen # 2
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(3TeRfa 9.5 3f@n) | gafery Fer P GHIHT B: Y

y? = dax .. (1)
THIHIOT (1) o A U&i 1 xoh G9el kel
FH R B UM T: . ¥
< >X

dy 0 (@,0)

2y =4 2
THHIO (2) ¥ 4aHT 9F THHWO (1) H WH W
g9 U ®: ;;,
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d
y’ ZVE%'(X)
X

2 oy Yo
CRE| Y -2y .. (3

FEeRTT (3) U g el o hel w1 3feshel HHIHI B

| woeTarett 9.3 |

1 95 % Y% Y99 H, W3 T ad bl fogw &t gu KU gu ol & Fa
! Fefud &3 arer STashel THIHIT [1d Shifed|

§+X=1 2 — 2 _ y2 = X 2
"y 4 2. y»=a(®-x 3.y=aeX+be

y =¢e*(a+ bx) 5. y=¢€(acosx + b sinx)

y-31&1 &1 7o foIg R T991 & a1e Jdl o Fel 1 el THIHI [T Hifeg|

T el o el 1 sl GHIRTl i ity fent oid et fag w @

3T TSenT 2187 oFTeaeh y-3187 i faen o 2|

8. UH Sreieii o el 1 YeTshel HHIHTU T shifoTy fSrert Ifea y-a1e1 T € qer
fSreh1 % gt g 2

9. UH Afqueerl & el 1 STaehel THIHI TG HITSY TSR AT x-3781 W &
T fSeht g ga forg 21

10. U@ Il o el o STaehel FHIHTOT 1 I TSRl b y-3781 T € SR fSeht
5 3 3T 2

11, frefafed steswa el § o R THiw %1 =AH T y=c e +c, e* 77

d’y d’y d’y d’y
A) —+y=0B) —=-y=0(C) —=+1=0 (D) —=-1=0
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12. Trefofaa gfieon § 9 forg g & T faikme gd y=x3?

d’y ,dy d’y . dy
x4 =X + X +Xy=X
QY s B) G2 Y
d’y ,dy d’y  _dy
bl AN 0 2 xFixy-=0
© dx? dx i (D) dx2+ dx+xy

9.5. W whifE T UIH UTA oF 3Taehct AHIGRIUT Rl ToT i @t fafemt
(Methodsof Solving First order, First Degree Differential Equations)

T URe3% | ¥H UYMW FifE UF YUH W@ oF STOhdl GHIRUN HI FA HE ®I dH
fafuet &t ==t &

9.5.1 JYqaRIUI =¥ alct 37dehel @HTHTT (Differential equationswith variables
separable)

YUH FHifE TS YT B H1 ST GHIHI (Hfaiad €9 &1 8l 8:

dy _
&—wa )

T F (X, y) 1 TOE®A g (X), h(y) o &9 § stfqerer fohan s aehar @ Sl g(X), X
T ® 3R h(y), Y Tk Hed @ dl SHel (1) YUERIg =X ol qHienion
FHEl &1 TH BF W FHier (1) i fefated 9 o fon s e €

;—di=h(y)-9(x) - (2
I h(y) 20, @ =R I gk Hd gL THERW (2)
1
W dy = g (X) dx .. (3)
o ¥ U fora@r S Gehdl €1 THOT (3) o ST el o1 Tk i W EH W hid B
1
TH TR TR (4), RU gU STaehel TR 1 gl fEfefad 9 % 9EE S
Hy)=G(X) +C .. (5

Tl H (y) T G (X) FH: ﬁ@g(x)éﬁ TfaeTaRes § 3R C Wes 3T T
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SETEYUT 9 3Tahdl HHIHRI %:%,(y¢2)wmwmﬁml
o e mn ? fE

% = % (y#2) - (1)
THieRTor (1) § =1 1 YUk i W EH W HW B

2-y)dy=(xx+1) dx . (2

TR (2) o S el o1 HHhe i W B WW i
[2-y)dy=[(x+1)dx

2 2

CRE]| 2y—y—:x—+x+C1
2 2
AT X+y?+2x—4y+2C =0
e X¥+y?+2Xx—4y+C=0 - (3)
S C=2C,

THHT (3) STaHd THH (1) F SUF T 2l

2
SETEIUT 10 Saehal THIH %:%WWWWW|
Wﬁiﬁh—l+y2¢0,wm% = i gUe FI U TG g3 Srashat gHiieRor fefated
®q ¥ fom@r S gehal 2
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1+y? 1+X°

THERTOT (1) o <A Uel 1 gHEhe i Y 8H UM e

(1)

J' dy _J‘ dx
1+y? T1+%°
el tanty=tanx + C

IE G (1) &1 =9F 7 B

d
SSTEIOT 11 diqqnciﬂ'lﬂwd—i Axy? =1 fafdre &1 9@ SR, AfE y= 154
Xx=0%

el afk y=0, fGan gen srashat geiiet frefafad 9 A foran <1 @ 2:
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T 39 el o Uk UH i Uee o1 GHiehol 96 e =ed € S fag (1, 1) 9§
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@07 13 fag (=2, 3), ¥ o A1t UH S5k ol G0 A1A Fifee eeh TRt

ﬁg(xy)mwﬁ%@ﬁuaw—%

A @W%ﬁ%@waﬁmﬁ%&aﬁw%&w%ﬁ%m
dy _2x

aﬁﬁquﬁng%m(l)aﬁﬁﬁrﬁﬁaﬁwﬁﬁ@wwé
y? dy = 2x dx .. (2
THIEHTOT (2) o Al YaA HT GHERCH FEH W EH TG F 7 :

_fyzdy = _[2x dx

37 y? x* C .. (3
T (3) § x=-2,y = 3ufaeenfud & W ' C =59 &l 2
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arel fafRe ga A HifsT)

11. (X3+X2+X+1)% =2¢+xy=13afk x=0



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Aahdl THRIUT 413
X(Xz—l);—diﬂ;y:oaﬁ X=2
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9.5.2 QU 37daheT WHIERYUT (Homogenous differential equations)
xT&y e FrAfafad werl | faar wifse
F (% y) =y + 2y, F, (X, y) = 2x=3y,
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F, (A, Ay) = A (2x—=3y) = A F,(X, y)

o o2 -an{2) 5

F, (A%, Ay) = sin Ax + cos Ly # A" F, (X, y),fm"{:ﬁ ff nar fau
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HHRTT (3) 1 x o GUY SFThed HE W EH U FW B
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Xl AX® Tyl Ay ¥ Fleeeiid & W gH 9w wid 8:
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F O Ay) = X JOIF(x, Y]
A[xcosj
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v dy
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Sar log |[v*—1]=-log|x|+log|C,|
37l log [(V*—1) (x)|=log |C,|
JYga (V-1 x= =+ C

vﬁ% Y yfaeenfid @ W B9 I w9 o

2
(y—z—ljx=icl
X

Sar (Y =x) =+ C XA X —y* = Cx
| woaTaett 9.5 |
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g (X) T = 39 YRR HIFSTT difeh THIh0T 1 a1 U&7 y . g (X) 1 STaehaeisl s S :
d
efiq g(X)(;—di+P-g(X)y=&[y-g(X)]
Sgar g(X)%+P-Q(X)y=g(><)(;—di+yg’(x)
= P.g(¥ =9
b 9
T 9(%)

Al el h1 x o Gie GHHST HE W Y U H B

dex: jmdx

9(x)
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Y dv
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X dx X
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18. 3Terhel GHishTol X(;I—.Z—y=2x2 1 FHEEA U €
1
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faferer 3qrgvor
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2
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IR0 (2) 1 X FUE Fheld HH W e UM B Y
2x+2yﬂ+2a—2aﬂ=0
dx dx (~a, @)
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dy 3x 4y
= e* ¢
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S dx vV Sinv—cosv
VSINnV  COSV 2d
31 — v EE
VCOSV X
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- d? d (ay) 2 '
0) I ¥+5x(d§) —-6y=Ilogx (ii) (&y) _4(;_‘0 +7y = sinx
dy . (d®
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ﬁ%(OEJQWWWQ@WWWWWWWW
T sinx cosy dx + cosx siny dy = 0 B

TR foh sTahel WHIERIO =0 &1 =IF TA



10.
11.

12.

13.

14.

15.

16.

17.

18.

Ak THIRIUT 437
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